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AREA OF TRIANGLES

Examples Select The Correct Answer Mcq

1. In the right-angled triangle

ABC, ZABC = 90°. If the coordinates of A


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XBdLOUjmoqRg

and C be (0,4) and (3,0) respectively then the

area of the AABC is

A. 12 Sg-units

B. 6 Sq-units

C. 24 Sq-units

D. 8 Sq-units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XBdLOUjmoqRg

2. If the points (0,0), (4,-3) and (x)y) are

collinear, then

A x=8,y=-6

B.x=8,y=6

C.x=4,y=-6

D.x=-8,y=-6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lJh0apHT9Ltf
https://dl.doubtnut.com/l/_FH0KoiQgfwMt

3. If the points (-1,3), (2,h) and (5,-1) are

collinear, then the value of h is

Al

B.O

C.2

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FH0KoiQgfwMt

Examples Short Answer Type Question

1. Examine whether the points (2,3), (4,5) and

(6,5) are collinear or not.

o Watch Video Solution

2. The centroid of a triangle is (6,9) and two of
its vertices are (15,0) and (0,10). Find the

coordinates of the third vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_uYY2tggXPHF7
https://dl.doubtnut.com/l/_SedSaGQQurJv

3.If the points (a,0), (0,b) and (1,1) are collinear,

1 1
then showthat — + — = 1.
a b

o Watch Video Solution

4. Find the centroid of the triangle formed by

the points (x-y,y-z), -x,-y) and (y,z)

o Watch Video Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_MUaEcqguORQ1
https://dl.doubtnut.com/l/_gkWqedto9uj3
https://dl.doubtnut.com/l/_ORRvNuLoeNmv

1. For what value of k the points (1,-1), (2,-1) and

(k,-1) are collinear ?

o Watch Video Solution

2. Prove that the line segment obtained by
joining the points (1,2) and (-2,4) passes

through the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_ORRvNuLoeNmv
https://dl.doubtnut.com/l/_RCBeOH3bpuuJ

3. Prove that the mid-point of the line segment
obtained by joining the points (2,1) and (6,5) lie
on the line segment obtained by joining the

points (-4,-5) and (9,8).

° Watch Video Solution

4. Find the area of the quadrilateral formed by

the points (1,4), (-2,1), (2,-3) and (3,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_pp4eJojR803x
https://dl.doubtnut.com/l/_stl5jMJ1Ely6
https://dl.doubtnut.com/l/_S32Xy7ndnmff

5.The coordinates of A, B and C are (3,4), (-4,3)
and (8,-6) respectively , Find the area of the
AABC and also find the perpendicular

distance of BC from the vertex A.

o Watch Video Solution

6. The coordinates of A of the AABC are (2,5)
and the coordinates of its centroid are (-2,1).

Find the coordinates of the mid-point of BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_S32Xy7ndnmff
https://dl.doubtnut.com/l/_hSivPM5ympyL

7. A (-1,5), B (3,1) and C (5,7) are the vertices of
the AABC. D and F are the midpoint of BC,

CA and AB respectively. Find the area of

ADFEF and show that A ABC = 4ADEF.

o Watch Video Solution

8. The coordinates of the points AB,C,D are
(0,-1),(-1,2),(15,2) and (4,5) respectively . Find

the ratio in which AC divides BD.

o Watch Video Solution



https://dl.doubtnut.com/l/_fyQXPDEjY7aN
https://dl.doubtnut.com/l/_7zMEiA5SiPIy

9. The vertices of the triangle ABC are A (3,0), B
(0,6) and C (0,6). The sides
AB and AC of AABC are intersected by
DE at D and E respectively into a ratio of

1:2. Prove by coordinate geometry that

AABC = 9AADE.

o Watch Video Solution

10. Find the area of the triangle with vertices

1 1 1
at (a, —), (b, —) and (c, —).
a b C


https://dl.doubtnut.com/l/_7zMEiA5SiPIy
https://dl.doubtnut.com/l/_qAqHohspLrEX
https://dl.doubtnut.com/l/_VVn4WprRJp1m

° Watch Video Solution

11. Locate the number 1.4 on the number line

by the method of successive magnification.

o Watch Video Solution

12. The coordinates of A, B and C of the
AABC are (3), (9,7) and (-3,7) respectively. If
D, E and F are the mid-points to the sides

BC,CA and AB respectively, then find the


https://dl.doubtnut.com/l/_VVn4WprRJp1m
https://dl.doubtnut.com/l/_eyOblEw5jVi9
https://dl.doubtnut.com/l/_eOwwxdfUA5lg

are of the ADEF. Also show that

AABC = 4ADEF.

° Watch Video Solution

13. If the coordinates of A, B, C and D are (6,3),

(-3,5), (4,2) and (x,3x) respectively and if

ADBC 1. . .1l 3
AABC_Z €n snow am—80r8.

° Watch Video Solution



https://dl.doubtnut.com/l/_eOwwxdfUA5lg
https://dl.doubtnut.com/l/_ciWK1JPODSab

14. If the point (a,b), (a',b") and (a-a',b-b’) are

collinear, then prove that ab' = a'b.

o Watch Video Solution

15. Prove that (a,b + ¢), (b,a + ¢) and (c, a + b)

are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_aOVftOQM4ISL
https://dl.doubtnut.com/l/_nWlwFGkOaik8

16. If P (-2,3), Q (4,-5) and R (-3,1) are the three
consecutive vertices of a parallelogram, then

find its area.

o Watch Video Solution

17. Four vertices of a quadrilateral are (-5,-5),
(2,-4), (3,2) and (-2,3). Find the area of the

quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_lvd8B1MvCtPY
https://dl.doubtnut.com/l/_zyn8XQwLpjsk
https://dl.doubtnut.com/l/_Gt46PPPwOChI

18. Four vertices of a quadrilateral are (1,2),
(-5,6), (7,-4) and (k,-2) and its area is zero. Find

the value of k.

o Watch Video Solution

19. Four vertices of a quadrilateral are A (-1,6) B
(-2.-4), C (3,-2) and D (a,b) respectively and its
area is 28 Sqg-units. Prove that 2a + b = 6 or, 2a

+b+22=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gt46PPPwOChI
https://dl.doubtnut.com/l/_JJZZetA840ea

Exercise 3 Select The Correct Answer Mcq

1. The straight lines 4x + 3y =12 and 4x - 3y = 12
intersect the x-axis at A and B respectively. If
the lengt of the perpendicular drawn from C
to AB be 4 units, then area of the AABC'is

A. 12 Sg-units

B. 6 Sq-units

C. 24 Sq-units

D. 18 Sq-units


https://dl.doubtnut.com/l/_VH5ueZhKRqoh

Answer:

o Watch Video Solution

2. The area of the triangle produced by the
straight line 5x + 6y = 15 and the coordinate

axes is

15 ,
A. e Sqg-units

25 ,
B. v Sq-units

C. 15 Sg-units

D. 20 Sq-units


https://dl.doubtnut.com/l/_VH5ueZhKRqoh
https://dl.doubtnut.com/l/_YOcwbKh5WZet

Answer:

o Watch Video Solution

3. The area of the triangle with vertices A (5,2),

B (-4,1) and C (0,-6) is

57 :
A. 5} Sq-units

67 :
B. 5} Sq-units

37 :
C. 5} Sqg-units

7 :
D. 35 Sq-units


https://dl.doubtnut.com/l/_YOcwbKh5WZet
https://dl.doubtnut.com/l/_Z9BCT1pYLorD

Answer:

o Watch Video Solution

4.The centroid of a triangle is (6,4) and two of

its vertices are (6,1) and (2,7). The third vertex

of the triangle is

A. (10,4)

B. (10,-4)

C. (4,10)

D. (-4,10)


https://dl.doubtnut.com/l/_Z9BCT1pYLorD
https://dl.doubtnut.com/l/_H3TqpEvRGDkC

Answer:

o Watch Video Solution

Exercise 3 Short Answer Type Question

1. Show that the line segment obtained by

joining the points (5,6) and (-10,-12) passes

through the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_H3TqpEvRGDkC
https://dl.doubtnut.com/l/_K06JdZKszkJu
https://dl.doubtnut.com/l/_l1nGoZyVVREP

2. Prove that the points (-4,-5) ,(9,8)and the
mid-point of the line-segment joining the
point (2,1) and (6,5) are on the same straight

line

o Watch Video Solution

3. Find the area of the triangle with vertices

(at%, 2at2) and (at%, 2at3).

° Watch Video Solution



https://dl.doubtnut.com/l/_l1nGoZyVVREP
https://dl.doubtnut.com/l/_pwKhw89P0K27

4. Prove that the points
(a, bc — a2), (b, ca — bz), (c, ab — 02) are

collinear.

o Watch Video Solution

5. Prove that the points

(p, p2), (g, q2) and (r, rz)(p # r) can never

be collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_DOKdJwvwwHv4
https://dl.doubtnut.com/l/_uRcACVS98eYE

